| Efficiency vs Dxy |
0.1

000f i

R EmE
007
.
oot L

=
003
002
R

1.

=
!

09 56-156-10 -5 0 5 10 15 20 25

—=— DQM_TT__mkFit-DQM_

| Efficiency vs Dz |

—e— DQM_TT__mkFitRETEST-DQM_

0.8

0.7

...................................................................

0.6

0.5

0.3

0.2

..................................................................

O T e oo R

--------- Lo

0.1 :

* .
: : Tt : :
[ SERRREREEE EREREY SRR T SRR AR EE AR SRS RE T B0 SRR T TP EET PR

L : 2 Tl [T




	Contents
	Page 1


